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Prepared by: Matthew Christopher, Camberwell Grammar School, 
and Anthony Sullivan, The Peninsula School
Solutions to Accounting Unit 4 practice exam 2009
Supplement to Compak, Issue 4, October 2009

The following answers are suggested solutions only as teachers may have used different approaches to teaching topics in Accounting Units 3 and 4. Teachers may also wish to allocate marks in a different manner.

Question 1: Rayden Retail

1.1.1
Product: Deluxe Pizza Oven
Recording method: FIFO

	Date

2009
	Details
	IN
	OUT
	BALANCE

	
	
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	Oct. 1
	Balance
	
	
	
	
	
	
	2

3
	8 000

8 500
	16 000

25 500

	5
	Invoice 672
	
	
	
	2
	8 000
	16 000
	3
	8 500
	25 500

	6
	Credit Note 203
	1
	8 000
	8 000
	
	
	
	1

3
	8 000

8 500
	8 000

25 500

	8
	Credit Note 56
	
	
	
	1
	8 000
	8 000
	3
	8 500
	25 500

	10
	Invoice G242
	4
	9 000
	36 000
	
	
	
	3

4
	8 500

9 000
	25 500

36 000

	12
	Cheque 1719
	4
	150
	600
	
	
	
	3

4
	8 500

9 150
	25 500

36 600


1 mark per correct line.

4 marks

1.1.2
Cash Payments Journal

	Date

2009
	Details
	Chq

No.
	Bank
	Disc.

Rev
	Creditors
	Stock

Control
	Wages
	Draw-ings
	GST
	Sundries

	Oct. 11
	Stock Control
	1719
	990
	
	
	600
	
	
	60
	

	
	Cartage In
	
	
	
	
	
	
	
	30
	300


1 mark for each correct line.

2 marks
General Journal

	Date

2009
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Oct. 6
	Sales Returns
	12 750
	
	
	

	
	GST Clearing
	 1 275
	
	
	

	
	Debtors Control
	
	14 025
	
	

	
	Debtor—Scissere’s Kitchen
	
	
	
	14 025

	
	Stock Control
	8 000
	
	
	

	
	Cost of Sales
	
	8 000
	
	

	
	Return of one faulty Deluxe Pizza Oven (Credit Note 203)
	
	
	
	


1 mark each for Sales Returns and GST Clearing, 1 mark for the two Debtors entries, 1 mark for the Stock Control and Cost of Sales, 1 mark for the narration. The cost price is consequential to the Stock Card.

5 marks

1.1.3
	Explanation   Product costs are costs that can be allocated to individual items of stock on a logical basis, such as the cost of rewiring. Period costs cannot be allocated to individual lines of stock because there is no logical basis to do so, such as the delivery of a number of different lines of stock.


1 mark for the differences and one mark for each example.

3 marks
1.1.4
	Explanation   If the cost of modification was treated as a period expense in the current reporting period, it would lower the value of stock by $600 (the cost of rewiring). Profit in the current reporting period will be reduced by $600 and Owner’s Equity will decrease by $600.


1 mark for each side of the Balance Sheet.

2 marks

1.1.5
	Explanation   A number of reasons are acceptable. They could include the number of purchase returns, the number of customer complaints, and the number of repeat customers. Other reasons are acceptable provided they are realistic.


1 mark for identifying a measure and one mark for the explanation.

 2 marks

1.2.1
	Stock item
	Quantity on Hand

(Units)
	Cost Price

$
	Selling Price

$
	Net Realisable

Value

$

	Standard Pizza Oven

Super Crema Coffee Maker

Bain Marie 
	12

23

16
	8 000

3 500

3 000
	12 000

5 250

4 500
	10 000

3 250

4 000


1 mark for the three correct amounts.

1 mark

1.2.2
General Journal

	Date

2009
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Dec. 31
	Stock Write-down
	5 750
	
	
	

	
	Stock Control
	
	5 750
	
	


1 mark for the accounts and one mark for the correct calculation.

 2 marks
1.2.3
	Balance Sheet
	Overstated/Understated/No effect
	$

	Assets
	Overstated
	5750

	Liabilities
	No effect
	0

	Owners Equity
	Overstated
	5750


1 mark per line.

 3 marks
1.3.1
General Journal

	Date

2010
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Mar. 31
	Prepaid Sales Revenue
	16 500
	
	
	

	
	Sales Revenue
	
	16 500
	
	

	
	Cost of Sales
	11 000
	
	
	

	
	Stock Control
	
	11 000
	
	


2 marks for correct accounts, 1 mark each for correct value calculation.

 4 marks

1.3.2
	Prepaid Sales Revenue

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	Mar. 31
	Sales Revenue
	16 500
	Mar. 31
	Bank
	20 000

	31
	Balance
	3 500
	
	
	

	
	
	20 000
	
	
	20 000


	Sales Revenue

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	Mar. 31
	Profit and Loss Summary
	16 500
	Mar. 31
	Prepaid Sales Revenue
	16 500


2 marks per ledger account.

4 marks
1.4
Cash Receipts Journal

	Date

2010
	Details
	Rec.

No.
	Bank
	Commission Revenue
	Debtors
	Cost of Sales
	Sales
	GST
	Sundries



	May 5
	Accrued Commission Revenue
	823
	1 815
	
	
	
	
	165
	1 050

	5
	Commission Revenue 
	
	
	600
	
	
	
	
	


1 mark per correct entry.

2 marks

1.5.1
	Explanation   The Cash Flow Ratio assesses how many times the cash flow from operating activities will cover the current liabilities of the business. This will assist the business to see if it is generating sufficient cash to cover its liabilities as they fall due.


1 mark per point.
2 marks

1.5.2
	Explanation   The Quick Asset Ratio has declined from 1.37 of Current Assets to cover every dollar of Current Liabilities to 80 cents of Current Assets to every dollar of Current Liabilities.

	Suggestions   Rayden Retail has:
·  increased the amount of stock on hand over the period
·  increased the amount of  prepaid assets over the period.


2 marks for the explanation, 1 mark for each suggestion.
 4 marks

1.5.3
	Impact on Working Capital Ratio   The increase in the Debtors Turnover may result in the amount of debtors increasing in the balance sheet. A slowing in Debtors Turnover does not change the Working Capital Ratio, as whether or not the Current Asset is shown as a debtor or cash will not effect the total Current Assets.

	Impact on liquidity   If the debtors take longer to pay Rayden Retail, the business may find it more difficult to pay its creditors, expenses and other current liabilities as they fall due in the next 12 months.


2 marks for each explanation.
 4 marks

1.5.4
	Explanation   The business could use the industry average of 30 days as a benchmark to analyse its own debtor management performance. Rayden Retail has a DTO well above the industry average, so it needs to analyse the reasons for its poorer performance with a view to longer term improvement. 


1 mark

Question 2: Pete’s Paradise

2.1.1 
Pete’s Paradise

Cash Variance Report extract for quarter ending 30 September 2009

	Operating Activities 
	Budget 

$
	Actual 

$
	Variance 

$
	Favorable/
Unfavorable

	
	
	
	
	

	Inflow
	
	
	
	

	Cash Sales 
	60 000
	48 000
	12 000
	U

	Receipts from Debtors
	40 000
	42 000
	2 000
	F

	
	100 000
	90 000
	10 000
	U

	Outflow
	
	
	
	

	Payments to Creditors
	(50 000)
	(40 000)
	10 000
	F

	Wages
	(6 000)
	(5 000)
	1 000
	F

	Advertising
	(4 000)
	0
	4 000
	F

	Electricity
	(300)
	(400)
	100
	U

	
	(60 300)
	(45 400)
	14 900
	F

	Net Cash Inflow from Operating Activities
	39 700
	44 600
	4 900
	F


1 mark deducted for any incorrect line to a total of 2 marks.

2 marks

2.1.2
	Explanation   Advertising—a reduction in advertising may lead to a decrease in sales.


1 mark
2.1.3
	Reason
· Cost of Goods Sold may have included stock that has already been paid for.
· As sales have fallen the business did not need to buy as much stock, so the total of creditors is reduced.


1 mark

2.2.1
	Debtors Control

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	Sep. 30
	Balance
	10 800
	Dec. 31
	Bank
	36 160

	Dec. 31
	Sales
	40 000
	
	Discount Expense
	2 640

	
	
	
	
	Balance
	12 000

	
	
	50 800
	
	
	50 800


1 mark per correct entry
4 marks

2.2.2
Pete’s Paradise


Budgeted Cash Flow from Operating Activities for the quarter ending 31 December 2009

	Cash Flow from Operating Activities
	$
	$

	Cash Inflow
	
	

	Cash Sales
	60 000
	

	Receipts from Debtors
	36 160
	96 160

	Cash Outflow
	
	

	Payments to Creditors
	(53 000)
	

	Wages
	**(6 500)
	

	Cleaning
	(600)
	

	Advertising
	(900)
	

	Interest on Loan
	(750)
	

	Prepaid Insurance
	(1 200)
	

	Accrued Electricity
	(400)
	(63 350)

	Net Cash  In flow from Operating Activities
	
	32 810


** This amount follows the 4 weeks per month, that is, a total of 12 weeks. However, a quarter is actually 13 weeks and some students may recognise this. This will give a Wages figure of $6000, total expenses of $62 350 and Net Cash Inflow from Operating Activities of $33 810.
1 mark for correct payment to creditors and ½ mark for the rest. No marks for totals as they are consequential.

5 marks
2.2.3
	Explanation
Preparing a Budgeted Cash Flow Statement on a quarterly basis:
· will allow for early/more frequent detection of trends or problem areas in liquidity. This allows for corrective action to be taken with inflow or outflow without waiting until the end of the year
· will enable Peter to see if he is generating sufficient cash inflow from operating activities to cover investing and financing activities.


1 mark for each point.

2 marks
2.2.4
Pete’s Paradise

Budgeted Profit and Loss Statement for the quarter ending 31 December 2009

	Revenue
	$
	$

	Cash Sales
	60 000
	

	Credit Sales
	40 000
	100 000

	Less Cost of Goods Sold
	
	

	Cost of Sales
	
	50 000

	Gross Profit
	
	50 000

	Less Stock Loss
	
	300

	Adjusted Gross Profit
	
	49 700

	
	
	

	Less Other Expenses
	
	

	Wages
	6 000
	

	Cleaning
	600
	

	Advertising
	900
	

	Discount Expense
	2 640
	

	Interest on Loan
	750
	

	Depreciation—Fixtures and Fittings
	300
	

	Depreciation—Vehicle
	1 500
	

	Insurance Expense
	300
	

	Electricity Expense
	400
	13 390

	Net Profit
	
	36 310


1 mark for Cost of sales, ½ mark for every other item, nothing for totals, deduct one mark for aliens and other errors, for example adding Stock Loss. 
7 marks
2.2.5
	Qualitative characteristic   Relevance

	Explanation   Identifying this figure allows the owner to assess the adequacy of the mark-up on stock. Decisions can then be made about adjusting selling prices or controlling cost prices.


1 mark for qualitative characteristic and 1 mark for explanation.

 2 marks
2.2.6

Pete’s Paradise

Budgeted Liabilities as at 31 December 2009

	
	$
	$

	Current Liabilities
	
	

	Creditors Control
	19 100
	

	Accrued Expenses—Electricity
	400
	

	Loan—Southern Rock Bank
	15 000
	34 500

	Non-current Liabilities
	
	

	Loan—Southern Rock Bank
	
	41 250

	Total Liabilities
	
	75 750


½ mark for each correct entry, deduct one mark if Loan not divided up.

2 marks

2.3.1 
	$24 000 – 4000 = $20 000

$20 000 / 5 years  = $4000 depreciation expense per year

2¼ years x $4000  = $9000

	
	$ 9000


No loss of marks for incorrect calculation.

2 marks

2.3.2

	Explanation   A loss on disposal can occur due to under-depreciation caused either by:
· over estimating the residual value of the asset, or

· over-estimating the useful life of the asset.


2 marks

2.3.3
Pete’s Paradise

General Journal

	Date

2009
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Sep. 30
	Disposal of Vehicle
	24 000
	
	
	

	
	Vehicle
	
	24 000
	
	

	
	Accumulated Depreciation of Vehicle
	9 000
	
	
	

	
	Disposal of Vehicle
	
	9 000
	
	

	
	Sundry Creditor—Valley Motors
	16 000
	
	
	

	
	Disposal of Vehicle
	
	16 000
	
	

	
	Disposal of Vehicle
	1 000
	
	
	

	
	Profit on Disposal of Vehicle
	
	1 000
	
	


1 mark for each correct pair of entries. Take into account possible consequential if incorrect calculation of profit or loss.

4 marks

2.3.4
	Explanation   It is treated as revenue when there is a profit on disposal because it is an increase in economic benefits during the reporting period and an increase in the owner’s equity. If it is a loss, it is treated as an expense because it is a decrease in economic benefits during the reporting period and reduces the owner’s equity.


1 mark

2.3.5
Cash Payments Journal

	Date

2009
	Details
	Chq

No.
	Bank
	Disc.

Rev
	Creditors
	Stock

Control
	Wages
	Draw-ings
	GST
	Sundries

	Oct. 31
	Sundry Creditor—Valley Motors
	456
	18 240
	960
	
	
	
	
	
	19 200


1 mark for correct amounts and 1 mark for correct columns.

2 marks

2.4.1
	Explanation   This ratio measures how well the assets of Pete’s Paradise have been used to generate revenue. The increase in the rate from .6 times to .7 times means that Pete’s Paradise increased its revenue as a proportion of total assets and has used its assets more profitability.


2 marks

2.4.2
	Explanation   The Return on Assets is affected by the percentage of sales revenue taken up by the expenses of the business. This may have been due to the fact that cost of sales have increased, mark-up reduced, or because other expenses increased.


2 marks

2.4.3
	Explanation   The improved Stock Turnover means that the average stock in the business is being sold more quickly, which should increase the Gross Profit. A worsening Gross Profit margin suggests that the stock is more expensive to purchase or the selling price has been reduced.


2 marks

2.4.4
	Suggestions 

· increase the selling price
· obtain cheaper stock from suppliers
· change the product mix of the stock being sold


1 mark for each suggestion.

 2 marks
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